1% semester 2013/2014

Student Name:. _ B (?’tg it AS SE . Student No._\\\ G4

Question # 1 : (10 points)

1. Suppose the demand curve for a product is given by J=300-2P441, wherg
income measure& in thousands of dollars. The supply curve is Q~3P—50
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b, If I=50, find the market clearing pr;cc and quaniity for the product

M%‘/»Q = Qb

- 200% 2P _‘\.*«i\gé\_,

_0(19,60

2050 = 500 =10

ﬂee g /

S =550

5 5
% Degawi (,,\M' 6
ol do the 3

// NS T  GRC




Question #2 : (10 points)

Suppose the demand eurve for a preduet is given by W, where P is the price of the

product and Ps is the price of a substitute good. The price of the substitute good is $2.00, .
Suppose P=$1.00. What is the %nce elasticity of demand? What is thecgioss-gnce

elasticity of demand? l \O Q
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b. Suppose the price of the good, P, goes to $2.00. Now What is the prggz elasticity of ;
demand? What is the"eross-price elasticity of demand? " o = \O-2 Jr?g = \(_, 1)+ 'L
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Question # 3: (Sgpo;' £s) ’Lé "{& WS = ";&Uui

Elizabeth has the fo]iowing utili

function for goods X and_}ﬂU(X, Y) = 2% g;ﬁ, And her marginal '
utilities are given by: MUX = 2°

, MUY =4XY. Her income is %

b
3 $500 per unit of time, the price of X equalqs $10 per unit, and the price of good'Y equals $15per
- unit, * U

., a Write the expression for indifference curve when she gets utility level of 40. And along
* the indifference curve you found, calculate the numbers of units of X when Y=4.
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b. Write the expression-of budget constraint, graph it and determine its slope.
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e. Suppose now the price of X is changed to 15, calculate the impact on her optimum

hoice.
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/{f. In a clearly labeled dlagram with Y on the y axis, e'nd X on the x axis, graghically show
the effect of the increase of the price of good x, ( indifference curves,ul and u2, bggl_ggt
lines BL.1 and BL2, d BL2, quantities of x &y, income effect and substitution eff fiect) all this on
the same graph. yph. don” tm me your analysis.
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~ necklace 1 n, that can wear togetjier. .
bp\/g W the indifference curve/put rings on the y axis and necklace on the x axis.
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( b. Suzanhas 32« dollar/s to spend,on j /ye ty, the price of ring 1shtb and the price of necklace
P9 1@ how many necklace and ringg can she buy.
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Due {o a shortage of gold, the price of necklace increases to 10 §
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d. Luckily, Suzan’s parents value their daughtet’ fty, and wilktg 1o give her ertugh

- income to insure that she has the same uiility, how much exira money do they have to

give her.
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. e. ' Assume she receives utility of 3 utils from each matched ]ewelry set she owns, how
much her utility will be. Write for uiility functior:.
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